Balancing Redox Reactions Worksheet 1

Balance each redox reaction in acid solution.

2+

Mn 2% + B0z~ > Mnog~ + Bi ST

MnO4 ™+ S203 2 > S406 2" + Mn 2t

Clo3 ™ + Cl = Cl2 + ClO2

P +cut > cu+ HoPOg4 ~

PH3 + 12> H3PO2 + |~

NO2 > NO3 + NO
Basic Solutions

2-

MnOg4 + C204° = MnO2 + CO2

ClOo2 = ClO2 ~ + ClO3

2

Cu(NH3)4 2 + $204 %> S032 + Cu + NH3

Zn + NO3~ > Zn(OH)2 % + NH3
Al + OH = Al02  + H»2

Zn > zZn(OH)2 2" + Ho

Answers
Acidic:
14 HY + 2 Mn2" + 5Bi03" > 2 MnO4~ + 5 Bi3T + 7 HYO

16 HY + 2 MnOg ™ + 10 52032 > 2 Mn2* + 8 Ho0 + 5 S406 2
4HY +2CO3"+2Cl~ > 2Clop + 2 H)O + Clp

8 HO + 2P + 5 Cu2t 3> 2 HpPOs™ + 12 HY + 5 cu)

4 H)O + 2 PHz + 312 > 2 HzPOo  + 8H * + 61

HoO + 3 NOp > 2 NO3~ + NO + 2 H™

Basic:

4 HyO + 2 MnOg~ + 3 C2042° > 2 MnO2 + 8 OH™ + 6 CO»

2 0H + 2ClOp > ClO2 ™ + ClO3~ + H20

Cu(NH3)4 2* + S2042 +4 OH™> Cu + 4 NH3 + 2 SO32 + 2 H90
6 HoO + NO3~ + 7 OH™ + 4 Zn > NH3 + 4 Zn(OH)4 &

2 A+ 2HO +2O0H > 2A02” + 3 Hp

2 0H™ + Zn + 2 HoO > Zn(OH)4 2" + Hy



Balancing Redox Reactions Worksheet 2

Balance each redox reaction in acid solution.
H,0, + Cr,0;¥ >0, + cCr*
TeOs” + N,O, > Te + NO3

ReOs + 100 > 105 + Re

PbO, + I, > Pb* + 107

As - H,AsO, + AsHs

Balance each redox reaction in basic solution.
O, + Cr’" 2 H,0 + Cr,0;~

Te + NOs > TeOs®  + NyO4

I0 + Re > ReOsy + 10

Pb* + 10357 > PbO, + |,

Cr,0;” + Hg > Hg*" + cr**

Answers:

8H" + 3H,0, + Cr,0, > 30, + 2cr" + 7H,0
TeOs%” + 2N,0, + H,O0 > Te + 4ANO; + 2H*

4HT  + 4ReQ, + 710 > 71057 + 4Re + 2H,0
8H* + 5Pb0O, + I, > 5Pb%* + 21057 + 4H,0
12H,0 + 8As > 3H,AsO, + 5AsH, + 3H"

30, + 80H + 2cr* > H,0 + 3H,0, + Cr,0/*
H,O + Te+ ANO; > TeOz> + 20H  + 2N,0,
7107 + 40H + 4Re > 4ReO, + 7100 + 2H,0
80H + 5Pb?* + 210 > 5PbO, + 1, + 4H,0

7H,0 + Cr,0, + 3Hg-> 3Hg* + 140H + 2cr*



